SOAL - SOAL LATIHAN INTEGRAL

1. Diketahui i(3x2 +2x +1)dx = 25.Nilai %a S 5. Hasil dari j(x2 +1).cos xdx =....
a —4 a a. X2sinx+2xcosx+C
b, -2 b. (x2-1)sinx+2xcosx+C
c. -1 C. (x®+3)sinx-2xcosx+C
d 1 d. 2x2cosx+2x2sinx+C
- e. 2xsinx—(x?-1)cosx+C
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6. Diketahui [ (32— _aoNilai L=,
2. Nilai jsian.cosx dx =.... I(3X 2x+2)dx = 40, o P
P
0

a 2
a _4
3 b. 1
b, _1 c. -1
3
d -2
1
c. =
3 e. -4
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4 7. Hasil dari JsinSx.cosSxdx =...
e. = )
3
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3. Hasil dari j3x.\/3x2 +1 dx=.... h. _8
0 16
a ! c. _°
2 16
h. 8 d. _4
3 16
c. [ e. 0
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d. 4 x
3 8. jx.sin xdx = ...
e. 2 0
3
a =
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4. Hasil dari jcosSde =... h. 7
3
1 6 . T
a —=cos” x.sinx+C c. =
6 2
b. Lcos® x.sinx+C d. =
6 e. 3%
2

- 2 - 3 1 - 5
C. —sinx+—sin”x+—sin” x+C . .
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d. sin x—gsin3 x+lsin5 Xx+C
3 5

e. sin x+gsin3 x+lsin5 Xx+C
3 5
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9. Nilai j2x+sin wdx= 13. Hasil J.Zx.coszxdx
0

L1, a. 4xsinY%ax+ 8cos¥%x+C

SR b. 4xsin%x—-8cos ¥ x+C

b 1 C. 4xsin'%ax+ 4cos%x+C
4 d. 4xsin%ax-8cos¥%x+C

C. %n2+1 e. 4xsinax+ 2cos¥%x+C
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2 14. Hasi [xy9-x?dx =..

€. %ﬂ2+1

a. —%(9—x2)\/9—x2+c
b. —§(9—x2)\/9—x2+c

Soal Ujian Nasional Tahun 2003

10. Nilai jx.sin(x2 +1)dx =....

a. —cos(x2+1)+C C. %(Q_XZ)JQ_XZ_*_C
b. cos(x?2+1)+C ) )
d < _2/_2 = _2/_2
C. —1/ZCOS(X2+1)+C 3(9 X) 9-x +9(9 X) 9-x-+C
1 2
0. cos(x+1)+C e Le-x)oox+ 1o 4c
e. —2cos(x?+1)+C 3 9
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11. jx.sin 2xdx = ... 15. Nilai st(l_x)ﬁdxz___
0
1. 1
a. = _=
4sm2x 2xcost+C a E
56
b. 1 1
4sm2x+2x0052x+C b, E
56
C. lsin2x—£cost+C 5
4 2 c. 2
. . 56
d _= VY
4cost 2xsm2x+C d _l
56
e. 1 1 .
© =C0s2X+—=xsin2x+C 10
4 2 e. s
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16. Hasil dari jcosx.cos4x.dx=....

12. | (sin? x—cos® x)dx =....

Oy [ N

a. —Esin 5x—}sin 3x+C
5 3

a. -
X 1 b, Lsinsx+ Lsin3x+C
o 10 6
.. 0 C. gsin5x+gsin3x+C
5 3
d % 1 1
: d. Zcos5x+=cos3x+C
e- 771' 2 2
2 1
) . €. _Zsin5x——si
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